
Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Multiplier par des puissances de dix ( nombre
manquant )

5, 418 × ________ = 54.18 3, 976 × ________ = 397.6

1, 394 × ________ = 139.4 4, 628 × ________ = 462.8

4, 823 × ________ = 4823 5, 434 × ________ = 5434

6, 758 × ________ = 675.8 10, 451 × ________ = 10451

9, 343 × ________ = 93.43 9, 922 × ________ = 99.22

8, 545 × ________ = 8545 2, 29 × ________ = 229

2, 863 × ________ = 28.63 6, 574 × ________ = 65.74

1, 254 × ________ = 12.54 5, 185 × ________ = 5185

1, 023 × ________ = 102.3 1, 378 × ________ = 1378

1, 569 × ________ = 156.9 4, 701 × ________ = 470.1
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Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Multiplier par des puissances de dix ( nombre
manquant )

5, 418 × 10 = 54.18 3, 976 × 100 = 397.6

1, 394 × 100 = 139.4 4, 628 × 100 = 462.8

4, 823 × 1000 = 4823 5, 434 × 1000 = 5434

6, 758 × 100 = 675.8 10, 451 × 1000 = 10451

9, 343 × 10 = 93.43 9, 922 × 10 = 99.22

8, 545 × 1000 = 8545 2, 29 × 100 = 229

2, 863 × 10 = 28.63 6, 574 × 10 = 65.74

1, 254 × 10 = 12.54 5, 185 × 1000 = 5185

1, 023 × 100 = 102.3 1, 378 × 1000 = 1378

1, 569 × 100 = 156.9 4, 701 × 100 = 470.1
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